St Bernadette's Catholic Primary School, Port Kennedy, WA

252 Grand Ocean Boulevard, Port Kennedy, WA, 6172

2017 Requirements List for Year 5 Your Access Key: W7CO1E



Welcome to the Class of 2017

In a few quick clicks your back to school supplies can be sorted well before the new school year begins. But don't wait until 2017 and get left behind.



BACK TO SCHOOL THAT GIVES BACK

Every time you buy textbooks or stationery from OfficeMax, we give a portion of your spend back to your School. A few small exclusions apply, which you can find out about at officemaxschools.com.au/giveback.

ORDERING INSTRUCTIONS

Ordering is fast, secure and convenient, just visit officemaxschools.com.au and follow these easy steps:

- 1. Search for your school St Bernadette's Catholic Primary School, Port Kennedy, WA and enter your school access key W7CO1E if required.
- Complete the student's details and select Year 5.
 Select their class (for primary schools) or subjects (for secondary schools).
- Review your requirements list and make changes (if required).
 Please note: some list items have been denoted by your school as a requisite for the subject or year.
- 4. If you need additional items, top up from our Back to School special range, and checkout.

 *Please note: For home deliveries only, if you have more than one student at the same school repeat above steps.

Once completed, an order confirmation will be sent to your email address.

<u>Please note:</u> If you have purchased any eBooks you will receive a separate activation email and any technology items you order will be sent separately to the rest of your items.

Payment Methods Accepted

OfficeMax accepts PAYPAL, VISA or MASTERCARD







Your card will be charged immediately at the time of placing your order.

ORDER DEADLINES and DELIVERY INFORMATION

Home Delivery:

Your order will be delivered to your home or work.

St Bernadette's Catholic Primary School, Port Kennedy, WA

252 Grand Ocean Boulevard, Port Kennedy, WA, 6172

2017 Requirements List for Year 5 Your Access Key: W7CO1E



- Orders placed on or before 4th December 2016 will be delivered free of charge before the end of December 2016
- Orders placed between 5th December and 19th December 2016 will be delivered free of charge and be delivered by 25th January 2017
- Orders placed after 19th December 2016 will incur a delivery fee of \$9.95. Unfortunately, delivery of orders placed after 19th December cannot be guaranteed before the start of Term 1, 2017

Note: Any orders placed after 19th December are subject to variance in stock levels.

Australia Post - Orders are delivered via Australia Post's eParcel service. As soon as your order is dispatched an email will be sent to let you know the Australia Post tracking ID Number. Your order can be tracked at auspost.com.au.

Note: PO Box addresses are not accepted by Australia Post.

VISIT US

When shopping at our OfficeMax stores, please bring this list to receive your schools Back to School pricing as standard retail pricing applies without this list. Product codes starting with 5 cannot be purchased or paid for at the retail stores. Payment options available are Cash, EFTPOS, Visa or MasterCard.

OfficeMax Store – North
Unit 6/505 Scarborough Beach Rd
Osborne Park WA 6017
(Access off Selby St)

OfficeMax Store – South Unit 5/9 Yampi Way Willetton WA 6155

Trading Hours

Mon - Fri: 8.30am - 5.00pm Sat: 9am - 5.00pm

Sat: 9am - 5.00pm Sun: Closed Extended Trading Hours (2 January – 4 February)

Mon - Fri: 8.00am - 6.00pm Sat: 9.00am - 5.00pm

Sun (29 January only): 11.00am - 4.00pm

All stores are closed on all Public Holidays.

HAVE A QUESTION?

If you need help placing your order, returns or refunds, delivery information or have a general enquiry, please visit officemaxschools.com.au/help

To view our full terms and conditions regarding your order, please visit our officemaxschools.com.au/terms

St Bernadette's Catholic Primary School, Port Kennedy, WA

252 Grand Ocean Boulevard, Port Kennedy, WA, 6172



2017 Requirements List for Year 5 Your Access Key: W7CO1E

Please select either iPad 32GB bundle or iPad 128GB bundle. iPad can be retained from previous year. BYOD products will be delivered to your nominated address, separate to your essential requirements at no added cost.

BIN CODE DESCRIPTION QTY PRICE TOTAL

Year 5

Parents To Supply: 3 x Boxes of Tissues (Family Size), 1 x Art Shirt, 1 x Water Bottle, 1 x Headphones for iPad. TEXTBOOKS (TXB) ARE COMPULSORY ITEMS UNLESS OTHERWISE ADVISED BY THE SCHOOL. PLEASE LABEL ALL ITEMS WHICH WILL BE STORED AT SCHOOL TO BE USED AS NEEDED BY YOUR CHILD. Please select either iPad 32GB bundle or iPad 128GB bundle.

Essential Items								
		Please select either Right or Left handed scissors	1	\$1.03	\$1.03			
S0921	1113496	Blunt End Scissors 157mm Yellow (Variants available)		\$1.03				
S0934	2404915	OfficeMax Blunt End Kids Scissors Left Handed 155mm Green (Variants available)		\$1.03				
		Please select either iPad 32GB bundle or iPad 128GB bundle	1	\$981.00	\$981.00			
	8821593	Apple iPad Air 2 Wi-Fi 128GB Space Grey Mgkl2X/A BYOD (Variants available)		\$684.00				
	8821925	Call Logging service (Variants available)		\$0.00				
	8821895	Protection Plan for Tablet 2 Years Total \$701 - \$1000 (Variants available)		\$59.00				
	8822247	Accidental Damage Protection - Tablet \$600 - \$1000 for 2 year \$100 excess BYOD (Variants available)		\$139.00				
	8822190	Logitech Type+ Keyboard Folio for iPad Air 2 - Black BYOD (Variants available)		\$99.00				
		Please select either iPad 32GB bundle or iPad 128GB bundle	1	\$836.00	\$836.00			
	8821585	Apple iPad Air 2 Wi-Fi 32GB Space Grey MNV22X/A BYOD (Variants available)		\$569.00				
	8821925	Call Logging service (Variants available)		\$0.00				
	8821887	Protection Plan for Tablet 1 Year \$400 - \$701 BYOD (Variants available)		\$29.00				
	8822239	Accidental Damage Protection - Tablet \$0 - \$600 for 2 year \$150 excess (Variants available)		\$139.00				
	8822190	Logitech Type+ Keyboard Folio for iPad Air 2 - Black BYOD (Variants available)		\$99.00				
S0065	1387030	Officemax® Megaspace Scrapbook, 100Gsm, 335X245mm, 64 Pages	2	\$1.35	\$2.70			
S0069	1923056	Minispace Scrapbook, 100Gsm, 167X245mm, 64 Pages	2	\$0.80	\$1.60			
S0071	1953613	Office Elements Copy Paper A4 80gsm White Ream/500	2	\$3.69	\$7.38			
S0140	1020781	Faber-Castell Textliner Highlighter, Yellow	1	\$1.20	\$1.20			
S0151	1020749	Faber-Castell Textliner Highlighter, Green	1	\$1.20	\$1.20			
S0293	1456474	OfficeMax® Doculope Document Wallet, Blue	1	\$1.42	\$1.42			
S0353	2277352	Officemax® Premium Dry-Safe Whiteboard Markers, Assorted Colours, 2mm, Pack/4	1	\$7.78	\$7.78			
S0401	2014788	Exercise Book, Wa, Oversized, Dotted Thirds, 9mm, 48Pg	7	\$1.12	\$7.84			
S0419	2182165	Officemax® Twistable Crayons, Assorted Colours, Pack/12	1	\$4.83	\$4.83			
S0441	1296825	OfficeMax Large Eraser, PVC Free	4	\$0.30	\$1.20			

St Bernadette's Catholic Primary School, Port Kennedy, WA 252 Grand Ocean Boulevard, Port Kennedy, WA, 6172



2017 Requirements List for Year 5 Your Access Key: W7CO1E

BIN	CODE	DESCRIPTION	QTY	PRICE	TOTAL
S0447	2188724	Maped Shaker Sharpener, 1 Hole	1	\$0.95	\$0.95
S0506	1489844	Staedtler Noris® Colour Coloured Pencils, Pack/12	1	\$3.48	\$3.48
S0550	1292137	Officemax® Polished Ruler Wooden 30cm each	1	\$0.36	\$0.36
S0559	1157469	Celco 180° Protractors 100mm Clear	1	\$0.52	\$0.52
S0571	1922238	Compass Micador 350 ea Plastic Non Needle Point	1	\$1.44	\$1.44
S0607	1266500	Music Instrument Descant Recorder Yamaha ea (Retain from previous year)	1	\$12.88	\$12.88
S0676	1273779	Colplan Student Diaries 2017 A5, Week to View, Bound	1	\$1.83	\$1.83
S0711	2404907	Paper Mate Inkjoy 100 Ballpoint Pen, Blue, 1.0mm	6	\$0.51	\$3.06
S0724	2404893	Paper Mate Inkjoy 100 Ballpoint Pen, Red, 1.0mm	4	\$0.51	\$2.04
S0845	1221507	OfficeMax Glue Stick Large 40g	4	\$2.06	\$8.24
S0867	1022849	Staedtler Tradition Graphite HB Pencil	8	\$0.56	\$4.48
S0909	1422952	Officemax® Handy Pouch Pencil Case, 330X135mm	2	\$2.08	\$4.16
S0940	2170973	Verbatim Store N Go USB Flash Drive 4GB (Retain from previous year)	1	\$6.55	\$6.55
S0951	1987674	Officemax® 8 Digit Pocket Handheld Calculator	1	\$7.15	\$7.15
S1019	1312766	Faber-Castell Connector Pens, Assorted Colours, Pack/10	1	\$5.01	\$5.01
T3906	1241826	Kluwell My Home Reading Green Level (Middle)	1	\$4.50	\$4.50
T4029	2530619	Targeting Handwriting NSW Book 5	1	\$14.95	\$14.95
T4468	1081950	Aust Signpost Maths Mentals 5	1	\$13.95	\$13.95
				Total: \$1950.73	